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Build an Archive

• Our memories are imperfect.
• We overestimate our own abilities (Lake Wobegon effect).
• Material not consistently on line pre-2000s
• I must have kept old exam papers for a reason.

Made a serious start in Jan 2016 with maths, applied maths,
physics, technical drawing and chemistry.

• The examination papers issued at the examinations held under the
Department of Education (Secondary Branch)

• Scr�ud �aip�eir na hArdteistim�eireakta





Collecting papers

• Trinity College Dublin Library
• National Library of Ireland
• State Examinations Commission
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Intercert Elementary Mathematics (for Girls Only)

• On peach coloured paper (c.f. ordinary alternative),
• A handful of questions like “A girl spends 8s. 2d. in buying x

bangles . . . ”
• “Special lady maths exam for our little lady brains”?
• Ran from 1933–1968.
• 2007 Report: Sé Sí — Gender in Irish Education.

The clear implication from statistical reports of that era is that
elementary mathematics was for girls, who, it was assumed,
were unsuitable for higher-level mathematics.

Department reports happen to be on shelves. . .



Why for Girls Only?
• in the Junior Course it is obligatory, except in the cases of girls, who may

take Arithmetic in conjunction
• There is . . . a dearth of good mathematical teachers in the girls’ schools,

and the absence of girl candidates for the Honours Leaving Certificate in
Mathematics gives reason to fear there will be a continuance of the
present dearth.

• The dearth of candidates in the universities who take Mathematics as a
special subject for the degree shows how serious the question of supply of
mathematical teachers . . .

• especially in girls’ schools is that the teachers give too much help and do
not give pupils sufficient opportunity of overcoming their own difficulties

• many of the teachers are too tied to the text-book
• the department felt the position of Mathematics in Girls’ Schools was not

satisfactory. . . . introduce the subject “Elementary Mathematics for Girls”,
. . . while retaining the full-course . . . for girls as well as boys”

• Wanted to abolish arithmetic-only option, but most schools objected.
• feels that a knowledge of the subject is of considerable importance to girls

as well as boys.



What Hasn’t Changed?

Applied Maths 1926 Applied Maths 2018



What Has Changed?
Maths 1991 Paper 1



Is it harder?

That’s a hard question. Let’s look at an example. (1926 Q3(a))

What is meant by a convergent series?
Show that u1 − u2 + u3 − u4 + . . . is convergent if u1, u2,
etc., are positive and decreasing without limit.
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Part 1

What is meant by a convergent series?

You need to know what they want. Could be:
1. A series is convergent if the sequence of its partial sums tends

to a limit.

2. A series
∑

an is convergent if there is a number l so that
∀ε > 0 we can find N > 0 so that∣∣∣∣∣l −

n∑
k=1

ak

∣∣∣∣∣ < ε

whenever n ≥ N.
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Part 2
Show that u1 − u2 + u3 − u4 + . . . is convergent if u1, u2,
etc., are positive and decreasing without limit.

If the partial sums are
n∑

k=1

(−1)k+1uk ,

then question is wrong: uk = 1+ 1/k gives a non-convergent series.
Maybe they meant

n∑
k=1

u2k−1 − u2k ,

but then the question would have been

Show that (u1−u2)+(u3−u4)+ . . . is convergent if u1, u2,
etc., are positive and decreasing without limit.

And you need Bolzano-Weierstrass theorem!
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Thanks

Questions?

http:
//archive.maths.nuim.ie/staff/dmalone/StateExamPapers/

http://archive.maths.nuim.ie/staff/dmalone/StateExamPapers/
http://archive.maths.nuim.ie/staff/dmalone/StateExamPapers/

